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QUESTION 1

What is the key significance of componentKey in the following ControlData structure? 

ControlData/Functions/Order_Component_Name/componentKey A. to uniquely identify an instance of an order
component at run time 

B. to calculate the processing granularity that generates the componentKey for a function or target system 

C. to store the granularity of the function that is identified by Order_Component_Name 

D. to indicate the function name, target system name, and granularity name of an order component 

E. to store any key generated during the execution of an order component that is identified by
Order_Component_Name 

Correct Answer: B 

Reference: https://docs.oracle.com/cd/E49311_01/doc.724/e41610/ dscom_ocomp_ctrl_data_man.htm#DSCOM164 

 

QUESTION 2

You have configured the following process flow in your OSM. Identify two possible outcomes of this process. 

A. When the Join Type configuration of the Join element is set to ALL, the ProvisionService task will never be executed. 

B. The Join Type configuration of the Join element must be set to ALL for the process to execute correctly. 

C. The Join element can be eliminated from the process and the same logic can be implemented with the remaining
elements. 

D. The "Is New Service Required?" element can have as many exit flows as needed, if the use case logic requires it. 
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E. There would be an error if the "Next" transition is substituted by a transition without status. 

Correct Answer: AD 

 

QUESTION 3

You are configuring WebLogic resources for an instance of OSM that connects to a billing application that is deployed in
another WebLogic domain and that receives new messages in its local JMS queue. Which two statements are true
about a possible procedure to connect OSM to this billing application? 

A. You can create and use Store and Forward (SAF) resources to connect the OSM and billing queues. 

B. You can configure the properties of the automation plug-in in OSM that allows connection to remote queues. 

C. OSM local queues do not need any special configuration to be connected to remote queues. 

D. OSM and the billing application must be deployed on the same WebLogic Server, so that OSM can write directly in
the billing application queue. 

E. OSM offers a productized Python script that recovers messages from the OSM local queue and inserts them in the
billing application queue. 

Correct Answer: BD 

 

QUESTION 4

In your cartridge, you have implemented one order and one orchestration sequence. What is the third element that
should be configured to connect this orchestration sequence to your order? 

A. Orchestration Process 

B. Order Item Specification 

C. Orchestration Stage 

D. Decomposition Rule 

E. Recognition Rule 

Correct Answer: D 

 

QUESTION 5

Which two systems are included with OSM within the Rapid Service Design and Order Delivery (RSDOD) solution? 

A. CRM system 

B. trouble ticket system 

C. network discovery system 
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D. activation system 

E. services inventory system 

Correct Answer: AB 
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